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Prerequisites

Watch this after:

e QuickSort - Partitioning around a pivot
* QuickSort — Choosing a good pivot

* Probability Review, Part |
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Reduction to Sorting
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Partitioning Around a Pivot
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Suppose we are looking for the 5t order statistic in an input array
of length 10. We partition the array, and the pivot winds up in the
third position of the partitioned array. On which side of the pivot

do we recurse, and what order statistic should we look for?

O The 3rd order statistic on the left side of the pivot.
O The 2nd order statistic on the right side of the pivot.

O The 5th order statistic on the right side of the pivot.

O Not enough information to answer question —we might need to
recurse on the left or the right side of the pivot.



Randomized Selection
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Properties of RSelect
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What is the running time of the RSelect algorithm if pivots are
always chosen in the worst possible way?
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Running Time of RSelect?
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Running Time of RSelect
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